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' CHEMISTRY
) (Skﬂl Enhancement Course)
Answer the Questlons from any one Option.:

' OPTION—A (Analytzcal Clinical Biochemistry )~
~ Paper : CHE- SE—4014 ' R

' OPTION—B ( Green Methods in Chemistry )
Paper : CHE- SE—4024

OPTION—C [ Pharmaceuttcal Chemistry)
Paper : CHE- SE—4034

, OPTION-D '
( Chemtstry of Cosmetics and 'Perfumes)

Paper : CHE- SE—4044

OPTION—E ( Pesticide Chemistry)
Paper : CHE-SE-4054

OPTION—F ( Fuel Chemtstry )
Paper : CHE- SE-4064
. Pull Marks: 50.
" Time : Two houi‘s

The figures in the margin indicate
Jull marks for the questions
Answer either in English or in. Assamese.
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. OPTION-A- _ ,
- (Analytical Clinical Btochemistry )
‘ Paper : CHE—SE—4014

1. Answer the followmg questlons ' f1><4=_4~
O ePTRE Tee fwa ¢
(a) What is Glycemlc Index9

o st e R

'~ (b) .Name one sulphur contammg amino. =

~acid.

waaﬁa aﬁa ﬂﬁmmm|

(c) . Which part of our body synthesme and
: secrete HDL? . ‘

g x@« Il wﬁ HDL sr\zmcf %
o R e - ‘
(d) What is Hemostams’)
s e |

2. Answer the followmg questlons in brief:

2x3= 6

o WFWW fat ¢

(@ What are triglycerides ? What is the
alarming level of tnglycendes in our
blood ?

%ﬁfﬁmﬁ?w cwvinﬁﬁwﬁ‘
Wﬁﬁlﬂ? - |
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(b)  What is the role of ‘Insulm hormone
in.our body ? Which part. of our body
-produces this hormone ?."

i R R TR R e W
(PINCBI Big0E B T ARy Teoy 2

(¢ Mention the basic dissimilarities in

structure between DNA and RNA.

R ﬁamcﬂmw«ﬂmamww cfrﬂ"g’i?ls 3

WWWI

3. Answer the followlng questlons (any two)

5x2=10.
WWWW (ﬁmmnjiv‘f)

'(a) What do you mean by Epimer? Is

fructose an epimer of glucose ? Give

examples of three epimeric pairs of

glucose with thelr 1nd1V1dua1 structure.
1+1+3 5

PR {%ﬁﬁig@?ﬁ‘@zﬁs’@??ﬁmﬁ
oW @ gy B @R PR B
- Pree dreRE oyeR IS WIS Wi
~ (b) . What is denaturation of protein ? How

it occur? Explain the factors

responsible for it to cause. 1+1+3=5

.ﬁﬁmﬁWq%ﬁWﬂz%?iﬂﬁm
. W IR FaR frn
3(Sem-4/éaqsp CHE SE 1/2/3/4/5/6/6 3 B ~ Contd.




(c) What are nucleosmles and nucleotldes ?

. Give an example of each with their
, '.structures 2‘/;»><2 S

sﬂﬁW‘TﬁWWW‘WWI

() Name . the two fundamental ‘building

blocks’ of lipids. Write their structures.

.. Give an example of lipids carrying those

buﬂdmg blocks along with its structure.

T2+2+1= S

ﬁf\%mmﬂm@@rﬁﬁwﬁ%\

S F I O 3 | P TR e
- (18 Rifer geom 2ot i e 3 crearsiy.

| oI i olda TICs B e e

Answer any. three of the followmg
questlons 10x3=30

: '[a) What is enzyme? . -
Define the following terms :

S aﬁﬁq@ et fra ¢
(i)- Isoenzyme (?m?\s éﬂflﬁﬂ)

(i) Apoenzyme (9o I1Z)
(i) Holoenzyme (TT¢aIZ)

: 3(Sem-4/caésp CHE SE 1/2/3/4/5/6/G . 4

(@)

Mention the seven classes of enzymes.

* .and briefly describe the type of reaction,

they catalyse. G1ve smtable example of
each class - 1+3+6=10

WW&WC&WWWW

. .wumm%azmq@wqu%w: -

‘Discuss in detail about clasmﬁcatlon

of Protein by giving su1table examples
of each class.

%WW%W&‘WMWW~:'
eI e s

Explain “The centra-l dogma' of
molecular genet1cs 7 :

» ‘Wﬁﬁ?ﬁﬁﬁﬂﬁ@m@@ﬂw”ﬁ‘?w

Sl , :
What is Glycolys1s ? Explaln briefly the

.various steps involved. in glycoly31s

Write down the overall reaction of
glycolysis.. - 149= 10

Py T Wb m—

WWWIWWWW

forail |
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(e) Describe how human blood is classified

according to the ABO system. How the

donor-acceptor compat1b111ty is -
determined based upon this
class1ﬁcat10n ? Explain.

"ABO %f%mﬁ"thﬁaamﬁﬁ

SIRITR T | B @i BRI (oo

.wmmﬂ%mm@mmﬁﬁ
' ®9WWI L

. 54'"-'.'6‘)' erte short’ notes on: 2Yax4=10 '

o (ot ora )
() Structure of proteln '
e
() HDLandLDL
oA R «ﬂaf%«ﬂ?f
(iii) Blood b111rub1n
(iv) Mechanism of enzyfne action.

- OPTION ~B
( Green Methods in Chemtstry )
: ' Paper : CHE-SE- 4024

1. Answer the followmg questlons 1x4=4
| oo T T |
_ (a) Fill ‘in the blank:
anéﬁ‘o'ﬁoffwo | |
% Atom economy = ‘ x 100~
% SR, mfamt X 100

(b) The full form of CFC is .
| (lel in the blank)

' 'CFcamcfmfﬂ -
. ;. (wa?éﬁqwasar)_‘

(c) Name the startmg material used in the |
- green.synthesis of paracetamol

| ,cmﬁ#wm%wwwmw
- R R A Bl |

(d) Minamata dlsease was found as
po1son1ng o (Flll in the blank)

-ﬁmﬁn@m ﬁzrﬁrmwcrtziiﬂu |
L (3 AR e )

3 (Sem-4/CBCS| CHE SE /2/3/456/6 7 . Contd.




2, Answef the‘following' qu‘esfione:-. 2x3=6

(a) What is called percentage yield’ ? Above.

o

(c)° What do you mean by green solvents ?
g lee example. ‘
Give are IR ﬁﬁ %1@1? %mcf fﬁm |
3 ' Answer any two questlons : 5x2=10

which percentage, a particular reaction
is considered to have a good percentage

- yield’? . .
“oal TeoATT DT @ ? a?*rw ‘ﬁsn"f

e *rordT esige AR G- 7[R Ritmie

Ol Mo BT Wmﬁi"@m{%m;
@

Define Regloselectlwty G1ve example

@Wﬂ@ﬁﬁtl%ﬁm«v )

wmwﬁmmzﬁ‘/%@ﬁm

(a) What are the goals of green chemlstry >
Mention the obstacles in pursuit of the

goals in green chermstty

" oive TR TR R cvﬁsvsf TR
Wwﬂmwmw‘wzﬁnv |

3 (Sem~4/CBCS) CHE SB/2/3/4/5/6/G 8

- (b) Write a note on_green synthesis of
1buprofen with chemical reactions.

WWW&W@WWW
‘ e‘»‘*ﬁ“&ﬁ@ﬁ#ﬁ%

(o) Ment,lon with example abeuf the ultra-
' 'soundéaSSisted chemical reaction

< i e W\zﬁ—wmﬁasﬁﬁma |

RE@vER w0
i (d) Write a note on &eeig;ning a ‘green
. synthesis. . ' :
o EReE] aﬁﬁ bl ﬁw«ﬁ ] «ﬂﬁ
| R BRI
4 Answer any three questions : | 10x3=30

" (a) Write the principles of green chemistry.
Write su1table examples -of any four )

pnnc1p1es , : ' 6+4— 10
e iz %ﬁw ﬁw | ﬁwm 5o
ToAoIM T T Bl '

3 (Sem.-'4/CBCS)‘CHE SE1/2/3/4/5/6/G O ﬂcontd.
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2.

(b) What are Blomlme’uc Combmatonal

green chemistry and sustainable
development ? How green chermstry can

"play a vital role in sustainable
~development ? Explain.  2+2+2+4=10 .
AR fiafss, fifte Eive e o T |
T [ IR SRR (FE© (108 PINE - |
%W@@@Eﬁ‘f?ﬁ@ﬁ%?ﬁ?"ﬂ@? [ |
| Wl - ol

, What are pressure treated wood ? Why

is the use of chromium and arsenic }}
~ restricted. in this field ? 4+6=10

o BT T B o e FREE

- oA e @R o o 1 e
(@)

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 10

Write notes on the following important:
appl1cat10ns of green chemistry in our:
day-to-day life: = 3+4+3=10
=1 @"@‘1‘{ s @3313 aorTs (R el
(i) Dry cleaning of clothes

P TR BR
(i) Versatile Bleaching agent
G fﬂ\ﬁ\ GUeo
(iiij) Analgesic Drugs
WA S8R

(e) Discuss the use of antlfoulant in the ’

field of environmentally safe - Water. :

' transporta’uon

ﬂ%ﬁﬁ’cﬁ%ﬁﬁmwﬁwwwl :

() What - are mlcrowave ~assisted .
reactions ? Why mlcrowaves are
considered as a more efﬁment source

~ of heating? What are “the ‘three
categories of microwave assisted organic
synthe31s ? Explam with examples.

142+142+2+2=10

- AT vmw sr\sn%c-s RFm RER?

wETrwes R @R Ao oo T g

o1 T 02 RIS G TR o AT
iy oD R Ree T I <1

3 (Sém-4/CBCS) CHE SE 1/2/3/4/5/6/@ 11 g Contd.




OPTION-C
( Pharmaceutical Chemistry )
Paper : CHE— SE-4034

1. ‘Choose the correct option : C1x4=4
BT Wﬁt foetre 31 3 ' '

(a) Wh1ch of the followmg statements best  :
' - describes a lead .compound-? ..u

e

i A compound that contains the :
element lead g

B
(i) A compound from the: i'eseareh ;
laboratory that is' chosen to gq.
- forward for preclin’ieal and clinical
trials :

Wmﬂ%wn«wcﬂwm cﬁmﬁm

fﬂ@sﬁmmﬁsﬁw@m&amwm |

IR AR @I =W

(iii) A molecule that shows some ‘
activity or property of interest and
serves as the starting point for the 3
development of a drug

. 3(Sem-4/CBCS) CHE SE yy3jaysie/c 12

(®)

. @Bt o R o PR el
WW@H«WWW ‘,
2oiest w6 |

(iv) The first compound of a structural .

class of compounds to reach the
market -

~'w—cﬂﬁmmﬁ‘mﬁﬁ— mﬁiwam c?t‘m -

"Wh1eh of the followmg terms is used to -

descnbe a drug that has the same effect

on a receptor as the endogenous.
. chemical messenger ? ~ '

WWWWWWW |

'MCWWWW@WW ,

IR ’81 ?
(i) Agomst
TR

(@) Antaigonist

o QBRE
(i) Partial agonist

S RGR m’ﬁé. '

(iv) I?:lverse' agonist -

ol @rRe

3(Sem-4/CBCS CHE SE/2/3/4/5/6/6 13 -~ Contd.




(9 Which of the following statements best |
- descnbes retrosynthesm'.)

3(Sem-'4/CBCS).CHE_SEA1/2/3/4/5/6/G 14

| )

I (PGS BfeT @’ﬂm% e acﬁ, |
"+(i)) The reactlon conditions required |
to convert the product of a reaction,
back to- the orlgmal starting
-materials.

ﬁ%ﬂmmﬁﬁﬁmmaww
R eicara R sry

A strategy uséd to deS1gn a |
~synthesis -of a' target molecule by |
‘working back ‘from- the target to.
sxmple startmg materials ’

4

;Wmaﬂ\mﬂqﬂ%@@ww,

A I

The design of a synthetlc scheme

using cheap, traditional reagents,

rather than expenswe mOdern |

reagents

Wﬁ-ﬁ@mwﬁﬁaﬁww

+

Py

(iv) The de31gn of reaction conditions
such that an equ1hbr1um reaction

 is pushed towards the- products -

© rather than the starting materials l

"aﬁmﬁ%ﬂwm wﬁar‘ |
ﬁ&z@@mﬁawéﬁm@

(d) ‘Which ‘enzyme is used to hydrolyse. |
~ starch’to “taltose to manufacture
ethanol by fermentation ? . '

W@’aﬁ@ﬁmﬁﬁmﬁraﬁﬁm o
wm
(i) Diastase
(i) Alpha-amylase
| W«ﬂﬂﬁcﬁ'@r
| (iii) -L1pase
‘(iv). Beta-amylase

ot

3 (Sem-4/CBCS| CHE SE 234568 15 - - Contd.




2. Answer the following quesﬁons»: 2x3=6 |

(a) Define chemotherapeut1c index and
therapeutic index.

LRI BT i calarﬁr%ﬁasmg

:'W@ﬁﬂil

(b) What do you mear by pharmacokmeuc R

;phase and pharmacodynam1c phase ?

-{i‘ﬁtﬁ%aﬁr? 3 :

3 (e) Write down. the chemical structure of
~ L-ascorbic acid. Mention its unportan
for human beings. ce

L- Wwwmm|mw |

? We@@WWI |

3. Answer any two questions from the

followmg 5x2=1qQ

(@ () What are NSAIDs'P Give an

example. 2
GRaRgNG 2 B g x|

(i) -Explain the meaning of the ';cerm

- ‘prodrug’ using an example. 3

AT Gl SRR S g

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 16 4

2

(b) Write the chemlcal structure of

1buprofen and 1dent1fy the chiral centre.
Which isomer of ibuprofen is

~ found to be. active as a drug? Write -

the steps involved .in the synthesis of

| 1buprofen'»‘ - e 14143=5

WWW%@W = e

| SR G SRR S RorA

()

oy eiRgee GRS @ﬁs@ ﬁ%mﬂsg_ _

T 91

- (i) }4 Name . one ‘species each from the -

following microorganism class .
which is capable of fermenting
sugar to Cltl"lC acid: . , 1.5

Yeast, Fungl and Bacteria

wu@mﬁ’@wmmﬁm” '

ﬁmﬁmw%«ﬁsﬁ@@aﬁe
' %&Wﬁiﬁﬁ‘?ﬂ@'

iﬁc@iﬁm@@ﬁm.

7 A(ii) Name the three processes adopted

“for the commercial productlon of

_citric acid. 1.5
sﬁ@ﬁaf@maﬁ%ﬁﬁwﬂwm@m'
wﬁﬁﬁraﬁmﬁmmu |

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/6 17 . L -(;ontci.




(iii) Write down. two commermal uses .
of citric acid ? 2 .

Fﬁﬁah‘lf@“ﬁ ﬁafﬁﬁm‘wﬁml

(d) Write briefly about the production of R

chlorornycetm by fermentation. 5

' wﬁiﬁw@?’ﬂmﬂﬁﬂwmm
-

4. ‘Answer any three questlons from the
following: - S 10x3= 30' kR

_(a) (l) - What  minimum requlrements

must an antibiotic fulfill ? Write =

the chemical structure of
. chloramphenicol ?" Identify the -
chiral centre(s) What
-mlcroorgamsm produces it ?
2+1+1+1=5

'  &W’ﬁ?ﬁtﬂﬁiﬁ?ﬁ?mmﬁﬂ@’

S99l FRI A FINFATTR IAARS

R TERR TT Beoia 2

(i) What are sulfa drugs ? Write the

chemlcal structure of sulfacetamide ?
Write the name of two bacterial
species against which it is active.

synthe31s of sulfacetamide.
' 1+1+142= S

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 18

ez oo . Write the reactions -involved in the

| erzﬂ%mﬁ@t@@ﬁma@rﬁaﬁ@m?

w@n@‘ﬁmﬁmwﬂw_

s I wive REFRR Pl

What is HIV ? What is AIDS ? Write ..
the name and write the chemical

. structure of an anti-AIDS drug.

. Describe the mode of action of the

3 dmg _ S L 1+1+142= 5.

@

o DR TR oy B e ﬂi@i

| oo e - PR o1 PR 15
forat | % ST RN Wtacf’»n =

What are soponﬁc agents ? Name
two substances which may cause

‘insomnia. Which drug was referred

to as the king of barbiturates?
Name an antianxiety. drug and

- .point out its other therapeutlc o '

benefits. . o 1414142=5 |
iﬂ’féﬁwm&?wﬁmaﬁaﬁaw _

g5t sy A BN SR 8

ARG T 7o I mmmﬁi%@ﬂ-
IR 894q W Bl e S
%&WW%WWW!

3 (Sem- 4/cacsp CHE SE 112/3/4/5/6/(} 19 o Contd:




@ 6

. What is a vitamin? Give one -
example of each water-soluble and .

water-insoluble vitamin. p '
~ different” Structural cdnl:.lsgll'lee;};e
present in vitamin B12. Write th:
name of two bacterial strains used
for industrial production of Vltarmn
B12 by fermentation. Write the

-, name of a disease that occurs due

(i)

~ to the deficiency of vitamin B1g .
. 1+1+1+1+1=é T

B R TS @fge . oy

fﬁmﬁéhtfgmﬁvﬁ'ﬁ%ﬁ$}%ﬁﬁ@q~ﬁkn

OBIfse B S A Rfew ‘ﬂ‘hﬁ%% W; .

i% forat | e o FOBfim Ry g '
Teolivae I I 16! @@ﬁq@m

mmlf%ﬁrﬁwﬁsxwmm' 1

@R A T

In the industrial Pl‘épafati
ethanol by fermentation—

on of

(A) what is the starting material

and what percentag

does'it contain ? 5

Wﬁmmﬁmﬂwm
B ACH?

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 20

(B) name two microorganisms .
‘that can' carry .out .rth;c‘
fermentation. 1

R aRa B SRR I T |

(C) what 1s .the optimum pH

range for the process? = 1~ .

. R AR S pH AR

(D) Why is .addi‘ti‘ori of oxygen

@ ()

@

necessary although the process

is anaerobic? - o 1
et ! R AT 2

Write - the structure activity

relationship (SAR). of penicillin
‘analogues. : 5

(armgir) Bl .
What is leprosy ? Write the name
and structure of an anti-leprosy

ARRBER ammaerémastzﬁmﬂ Tk

_ drug and propose a synthesis for it.

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 21

1+1+3=5

Contd.




(e)

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 22

6

(it)

@

T @ e gy @l erf‘—éra;m 3T
TSR o1 Sk TR O e oigf

van

Write the structure of antivira]

drug acyclovir and outline its mode

of action. . . 1+4=5 -

aﬁ@ﬁ@a@m«ﬂf@’ﬁvﬁamﬁvﬁm,
-E?Wﬁﬁ?ﬁwaaaaaﬁhmﬂsjéﬁwmﬁmﬁnawn

What are benzodiazepines ? What
is the trade name of the drug
diazepam ? Propose a synthetic
pathway for drug diazepam.

: : -~ 1¥1+3=5

PR Sy ST S
i W e REFE Ser o)

SIS SR ot eS|

‘Draw . the structure  of
cephalosporin C. Name the twg
heterocyclic rings present in itg
structure. Mention the steps

.involved in the synthesis of

cephalosporin C by fermentation.

Mention one advantage and one -
disadvantage of 1lst generation

cephalosporins over penicillins.

1+1+4+42=8. |

@

| W’“"Pf’ﬁﬂ B3 oo w\aﬁwiiﬂﬁ'

oS Telfe <l DO CTORET Re

I R e R GERRT B
| TR T GO ANCFFITE G 3 |

ﬁﬁfﬁﬁmwﬁwmwwaﬁ g
ﬁﬁmma‘ﬁfuﬁﬁmw«n

Draw the structure of v1tam1n 82
‘What is its functlon'-’ 2

ﬁﬁﬂﬁgﬂh@%ﬂﬂ&ﬂﬁw%?
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Aol (i) ~Hydroalcoholic solution includes

(Chemistry of Cosmetics and Perfurﬁes ) [SES sw e e T 4Ry
Paper : o | -
. AShiA CHE SE-4044 (a) nail polish remover
1. Answer the following questions from below - 7 (. @ AT AT

' A s | : (b) aftersave

oo Rl TRy Tl s - | ' e
(i) Which of the following chemicals igs | (c) hair oil
used as flavouring agent? | §ﬁﬁ' ASGi|
Se (P! SRR (o IR Bty M (d) bath oil
- S et W

IR 9 27 Y

(iii) Oil in water ‘emulsions are used in

9{15 o (o 3ETHA0! K2R -

(@) hair conditioner

(a). Acetonyl acetone
gfoG el dfbo

(b) Oxybeﬁzene

. gy - gl fepaEe
: ST - (b) sun screen
(c) Titanium oxide B TS
Bosfam @iz (c) diaper rash cream

GIEAR (@ FO
| (d) vitamins

e ICRIECRERIS

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 24 ' | 3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G¢ 25 Contd.

(d) Octrizole




(i) . Write two s1de effects of the use of halr .
- dye. :

‘E%‘WV %‘Wm zbrvmﬁm%cmmn

| (iii) Write: two dlfferences of talcom powder o

(zv) Body odour develops as a result of
secretion from

| W@meﬁm«mmgﬁ

SFR 2
o and face.powder. .
.(a) skin - ERREEEE Wmmaﬂ—mmwzﬁ |
- ' | —9n21%m%mn|~ o o
(v muscle . - N 3. Answer. anytwoqueshons from the followmg
S ' ' ._ ’ 5x2 10
(il |
.{¢) apocrine gland e ) ‘(l) ,What are the 1deal chracterlstics of -
| _ a , S , ointments ?. Writé one advantage and
B "ﬂqm CZI@ S ‘ ' : Co -~ one disadvantage of ointment. 3+2=5
(d) sweat | | N | o HifRfe WWWIW*ﬂﬁﬁﬁm
a | I | "'Wﬂﬁﬂﬁﬁﬂiml '

(i) What are the main ingrediants of cold
- cream ? Write briefly about the

5

2> - Answer the following questions ffom belox&; preparation of cold cream. 2+3=5
. L S - 2x3=6 T PR 7 ToamerR B [ T e
weTs Al emoTrRs Teq ol ¢ ' ﬁmﬁaﬁms@ﬁﬁm R
. . : ' . : . ’ (iii) ‘What is antlpersplrant ? How they act ? .
(i) Write any four functions of cosmetics.. .
ePliseE R sk e R S < aﬁm@mﬁﬂwﬁmwmmaﬁ
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4

(iv) What is suntan lotion ? Mention three

uses of suntan lotion. - 2+3=5

maw%?iﬂﬁﬁﬁﬁw%‘mﬂw|

4. * Answer any three questlons from .the -

) following : -+ 10%x3=30
TS fiat e RewIeAT OB B fore

() Explain the term cosmetics. What are
the various categorles to classify
cosmetics ? - 2+8=10

m«gﬁmﬁsi@‘»m mﬁﬁwm
BRI 4 |

§ (ii) Write fwo 1mp01jtances of each one of
the following : - 2x5=1Q
ST 2ATOIFC FHI AT Braie 3o ¢
(a) Civetone

fofes
(b) Eucalyptus oil
BOEI#(BI6 (O
~(¢) Rose oil '
SR L N ACL
(d) Sandalwood oil
| GOSTOG (O
(e) Eugenol

| S

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/0 28

(i)

Give the method of preparatlon of
shampoo: How can you dlfferentlate
between hair remover and nail polish
remover? - .- .+ - - O5+d% 10

WW@WWMlﬁWM

I A ST SRR e s 7 e |

A(-z;v) |

What are the best sources of geraniol ? -

‘What method is adopted. for its

extractmn? Dlscuss 1ts ‘uses: '
. 2%2+2=6

PR @@ eni?ﬁs @Wm o

Wﬂ%mﬁﬁﬁsﬁﬁ%mwm?m

~ Write .the two cosmetic uses of each

(@ Oil in water emulsion |

(b) Water'in oil emulsio‘n :

(@) e com |
(b) (TS AN, a%zmw@ﬁmw

Wf@r«‘m
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(v) Wnte in short about the following : OPTION-E -

S5S+5=10 ( Pestictde Chemistry)
TS B ﬁvma SIS T %wr I Paper : CHE- SE=4054 .- .
" (@) Cosmetic safety © 1 1. Answer the following Questlons - 1x4=4
- e At - R I . _@a—ﬁmmwm S
() Advantages/contributions of. - (a) Write the nareof a plant Wh1ch is used' :
-colouring agents in cosmetics : as insecticide. - R
. preparation '
-- - o TR &I@f@ﬁﬂﬁm |
A SFTIAIS TS TG e Rpteet R @R
‘ﬁﬁ*ﬂ/ iEﬁs' e : (b)) What is the trade name of Benzene |

(i Hexachloride (BHC) ?
vi) (a) Write briefly about the actions of exachloride ( )

~cold cream, vanishing cream and . o @?@ﬂ C@EW (BHC)WW%‘?
| $hav1ng cream. 2%3=6 | (c). Deﬁne the term Rodentlc1de '

T F, (SRR F Wi (e Fw - et

PR TAICE B | | o | .W‘ ot e f

- (b) Write bneﬂy about hair waving and. (d) What 1s Bordeatix o . e .

hair straightening agents. 4 o | J6w ol e
ﬁﬁmwﬁ@%\mw o e o
‘CQZT Wﬁm o - 2. Answer the following questions.:. . 2x3=6
() What is a b10 pestlclde ? lee an-'
’ example
Ema?ﬁnmﬁw nﬂﬁwciﬁm

. -
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(b) To which chemical class of insecticides
does DDT belong ? Name another
insecticide that belongs to that same
class.

S 1% 6 e IR ITT F o Sresfs ?
G2 G (HTH S S BT FIoa=sa i
ERIN

(c) Draw the structure and IUPAC name of
alachlor.

G T 51O SIS 4l Ol B9 B3 36 34 «q
o = et |

3. - Answer the followirig questions : (any two)
. 5x2=10
wote Tl epprred Oed il ¢ (Ricpieat 751)
(a) Write a short note on Malathion.

SiEREas esTe it 53 (Gt fert |

(b) Write down the,chern'ical structure of
gammaxene. It is also known as HCH,

claborate on this acronym. Mention two

uses of it. - 1+2+4+2=5

e A 15 B B HCH Sfve

i T, 2 IR DI 8RS Reiveica forall |

TR 75 RIS TS T |
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(c)

@

‘Draw the chemical structure of

butachlor: To which chemical class
does this insecticide belong ? Briefly
describe the chemical synthesis of

butachlor. 1+1+3=5
SO IR o9 SR 1| G BT
@I IS (T @S 2 IBIF 91 I
FeCalTer R GYCP o0l <51 |

What are natural and synthetic
pesticides ? Give examples of each class.

Mention two advantages of natural
pesticides over synthetic pesticides.

2+1+2=5
Ao T Fhas ST [ 2 ofowsi i
it Tzt fra | P Floarrers apfows
FBARRER 707 R4 S 11 |

Answer the following questions : (any three)

Wﬁmaﬁmﬁa@@ﬁm(ﬁmmz%ﬁﬁ)

10x3=30

v  Give an example of Quinone pesticide.

Draw its structure and mention [TUPAC
name. Discuss briefly the synthesis,
properties and uses of it. ~ 1+2+7=10
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m
()

(d)

| P TG B Stz R 1 B a1 ke
. T I [UPAC AN Srard 5t | 3aie e, o
HIF IR RIS A 0|
Discuss the merlts and demerits of

-.pesticides. |

f _-W@qWWWWI |

‘Discuss briefly the synthesis, uses and
“harmful effects of DDT. :

R B, WWWWW
BT SICEe IR

Write briefly on _the classific%ation of
pesticides (based on the target organism)

_ citing suitable examples of each class.

oIfoH] (T BT St 7 Soiea

- mﬁﬂﬁmﬁm(wﬁ«\em—ﬁﬁaﬁ)

- (e)

S ferat

(i) What is Folidol ? Draw its chemical
'~ structure. 2

$W%?mmmwawwl

[ Outline two major distinctive

“features of organophosphates from

other msectlclde classes. 2
SRYIR) ST T ~fal w‘rﬁw
75! A4 wﬁﬂ iR Raca
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{liz) What are agncultural pesticides ? -

)

‘Méntion the name and uses of two =
, agrlcultural pest101des » 2+4=6 |

" FfaTe FHAEER e @W '-
,aﬂ%:rmwmwﬁf?w%m |

What are carbamates ? Propose one

. method of synthe31s for both .-
" carbofuran and carbaryl. Mention:

~ two major disadvantages of these

carbamate msect101des 1+4+2 7

'asms:%@ﬁﬁs? w’wwwﬁa

m@mmﬁa@mwm

| ﬁmaawammmgmm'

@

| Wﬁﬁm@mﬂrwn

Dlscuss the symptoms oBserved on
carbofuran p01sonmg o 3

"WWW|
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1. Answer the followlng questlons . 1x4=4
A (a) -What is the composition of water gas?

(b) Wr1te the percentage composmons of ‘
- gases present in CNG.
- 'CNG © 2 CWWWT%NTI
(c) - What is the advantage of alcohol-
: 'blended petrol? '
G Re e (oIGee Rt e
(d) Name one solid lubricant.’
@by cott fﬁﬁzﬂw Bt ﬁam
2.  Answer the followmg - 2x3=6
e faiieT Tl T ¢ L
(a@) What do you mean by non- renewable,
energy ?
] *ﬂ“@ Jfercs ﬁs e -
(b) What is coal-liquifaction ?
. THIR SR e
(o) What are the dlsadvantages of uses of

OPTION-F
( Fuel Chemisthy)
-Paper : CHE=SE-4064

Al cﬁ%wzrﬁaw"gﬁ%‘zm

CNG?

- CNG Wwﬁwml
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-3.  Answer any two of the followmg questlons

: 5x2=10 .
Tﬁmmmﬁmmsz‘/m%@am '

= (@) What do you mean by lubricants ? How

lubricants are -classified? Give
examples of each class. .1+3+1=5 '
Pt e & 3@ Pt
ﬁmﬁv«'@ SR (=R W ﬂmﬁh %m@i

(b) What is Naphtha? Wnte t-he products '
. .obtained when -Néphthas: are allowed
~ to undergo steam- pyrol sis? 1+4=5

A [ e ﬂﬂ%‘aa T
T (RN AR ﬁﬁm - o

(c) What are the composmons of producer .~
gas ? Between producer gas and water *

- gas which one has more calorific value ?
Why is produicer gas used immediately
after its production? What are the-

advantages of natural gas?.
Co 1+1+1+2 =S

AT (orem W‘{{F@ forat 1 efGo cem:snas,
T (TR e (PG (@R
g (IR o (AR Mt T
- 'WWWST?WCW&%&T%%?
(d) Write the petroleum fractions of the
products obtained during refining of

crude petroleum. Also write their boiling N

ranges and. useés of each fraction.
3+2=5
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SRS (iGeR ﬁﬂﬁﬁ@? s CACL B e
IR Bl | (TR Soeie SRR B
WA AT PO R T |

-{c) What are the functions and
'~ characteristics of lubricants ? What is
viscosity index and what does ‘it

indicate ? What are additives in
* AS:SZZLS aﬁy three Of_ the foll(l)owmg | lubricants ? Name some  additives to
Eﬁ‘l‘ i 737(?157&77 o ﬁi : Bl ¢ x3=30 - . 1mprove the lubnca“tlon in oils.’ o
o ‘ - - 3+3+2+2=10
(@) What do you mean by coal gasification? | - - PR W % edieds R B |
Write the flowchart of coal gasification | . il At P & e 3 & Fot :
prOCCSS. What are the advantages and ) ' ‘ W?W@qwmm @W
disadvantages of - coal gasification ?’ ' ﬁw CHRDIA Sl ﬁ”"' D
2+4+2+2=10Q ' - {d) What do you mean by renewable and’
IR C’z‘@Wﬂ‘ W%?W CIRTTINR 2wt B non-renewable energy sources ? Write |
N foas ST @i ol | T5e R AR ' about solar energy, advantages of using. j‘
O SRR T ' | B ~ solar energy and also write . =
(b)) What is cracking of petroleum ? Write o :;iigimages of it. Wh‘flt 18 g:iiez_m;aé L
the products of thermal decomposition L ' g
of n-Butane. Draw the flowchart. of , Wzﬁliﬁmﬁl 283 Wﬁaﬁmm W;U & ﬂﬁmﬂﬁi ) i
Fixed bed catalytic cracking. What qre | = - ol WC“ Wl &< %’1"211‘ le 9'?[2[ x]% “ Zm”\s iﬁs';
the advantages of catalytic CI‘aCklng') A o : W ) L
2+2+4+2<1 : (¢) What is biogas ? Write the compositions
E C s | of biogas. What is biomethanation ?
cvl@f%ﬂmc—% FraF @ aeE om0 ) » : n:
ool e WWL Sestm cﬂﬁvﬂmﬁ B ‘ o Write on biodlesel and transesteri-
N ot ‘WT P ! | fication’ reaction as well as flowchart
fas-Ro 5. liﬂjdﬁi I RRSRI T R ot ; - - of biodiesel productlon
SFIAoT RSRAI SRR o . . A 2+2+142+142=10
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AR R e AWt S Bt | e -
- R IwreeR RRw ot (GmaRiRfdew
ﬁf‘mﬁznmnam’l%c@m@wmmjy

CEo i TR |

| () (i) Define. octane numb'er of a. fuel.
" - . .How a vehicle select a good quality .

S fuel for use. . . 2
o T R mﬂwm—miw
(i) What are the baS1c composmons

of crude oil? Mention the basic
pr1nc1ple beh1nd its refining

process. - 2
woifReefes m—aﬁ—*ﬁsm? oo )
_ﬁﬁ?ﬂmw%w@mﬂw: R

~ (iij) How are cloud point and power :
' point of a lubricant measured? -
2+2=4

ﬁwm«m@@ﬁﬁwﬁa@ﬁ"@ |
"mmﬁcﬁww ' -

' (iv) Write your short comments on
' ‘future of renewable - energy in

India’. 2
‘OO WY *&< I SRS’

| Wﬁﬂawwﬁm
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